Day-4 — Session-1 — Set-G — Hindi Medium - SOCIAL STUDIES
Psychology - Paper - 2 - SET - 1 (Hindi Medium)
The appropriate method to study the behaviour of animals and
mental patients.
1. Introspection method
2. Experimental method
3. Longitudinal method

4. Observation method

SITeTaR] 31R ARG APR] & TagR & 31T & foIu
3ug fafer -
1. 3fcAferRieor fafér

2. u=OnHS fafd
3.  3igeed fafy
4.  Terdtemor fafdr

The Scientist who stated that the children are born with innate
language abilities.

1. Skinner
2 Chomsky
3. Bandura
4

Watson

““TEN DT STed - SleHoId HIOT Haeh iafeiga oaftean A
1. R

2. dlHAZD
3. 4

4 dicdd

~



Not attending to the interview assuming that | will not get the job
because thousands of people are attending to the interview for only
very few jobs, defense mechanism adopted here is

1. Withdrawal

2 Regression

3. Reversing motive

4 Sublimation

“Tgd HA SAlBRAI B 6TT FOIRI ASAT A ARMHR & feIw
gioR g1 33 o | A I fHACHN?” AHAZH ARIHR &
foTu BIfSIR & BleT A UBR BT I2IUTHSD a3 -

1.  UBR
2.  HferEHEe

3. & H 3cTud
4.  3STAIBROT

One student is able to draw pictures efficiently without any training
because of his.

1. Attitude

2. Aptitude

3. Interest

4, Experience

Tl SR & 1101 & faer Us o1 aga 31 o1 A
i @t Sfiaar & | sHdT BrRur 37 foemeff @ -

1. sifdgfa
2. 3ifdemEan
3. &

4.  3FHT



According to Gardner the intelligence possessed by the sports men

IS.

1 Bodily kinaesthetic intelligence
2 Interpersonal intelligence

3. Naturalistic intelligence

4 Visual spacial intelligence

MR &F IR Raenfean & gidaren gig 3 -
1. RIR® Weras ghe

2. 3addfhd ghg

3. upla dAdfa ghg

4. T YRR gig

The painful emotional state created in a person as a result of

contrasting desires.

1. Conflict

2. Stress

3. Frustration

4, Maladjustment

RIR f5g o131t & BRI ATld A 3cUsl ceellh
Safora Rerfa 3 -

1 Jad
2 GGIG)
3 pod



According to Erickson High School children face this psycho social
critical situation.

1. Industry vs Inferiority

2 Initiative vs Guilt

3. Role Identity vs Role Identity confusion
4

Intimacy vs Isolation

CR&TE & AR R & qenef g3 bR #i
FHelldsTiel 3R ATAISIS FHepe-RIfd BT AT Hd 3 -

1. 3T (UiRsd) vs el

2.  JUBHUT vs URTE

3. AP UgdIE vs HHADBT H IcTgrel
4.  3TEHNEr vs fadmerar

According to Thorndike this part of the brain influences mechanical
intelligence by controlling motor skills of a person.

1. Diencephalon
2 Fore Brain
3. Hind Brain
4 Mid Brain

ATHSTSH &b ITAR ARh & IR DIerel ol feriba
HId gU JiIb gieg P TATAd Beldiel ARTE BT HPG -

1.  gRomefA

2. 311 ARTsp
3. U ARASh
4. AT ARASh



9.

10.

In the stages of Human development this stage is called as
‘Adjustment stage'

Adulthood
Middle age
Adolescence
Childhood

It b IBrRA-TM3N A “THRNGIST S’ HITAdTel SARIg

A wnpoE

3 -

1. o=

2. HEAITRA
3.  fwonRme=en
4. QTcATEaRRA

The child is habituated to drink milk through feeding bottle. When
offered milk in a tumbler instead of feeding bottle, first he tries his
old way of drinking i.e., sucking, afterwards he picks up the new
way of drinking. This cognitive process is called.

1. Accommodation
2 Assimilation

3. Organization
4

Equilibrium

qU &I gg-diael A dia B 31ed gledred ag i Premd A
G Qo WR UgHl g Bl YRIE [afdr H Hifner w3k b
& HU A B A N &) =0 [Aafer & Fzren 53 ueR
P HseATcHD UihaAT 3 -

1. AARNSE

2.  S3cHATT Bl
3.  CIaRIUE

4 FHAdeTe



11.

12.

Ramesh has to cross the river and go to neighbouring village to write
exams. One day he is unable to attend the exam due to floods. The
obstacle faced by Ramesh is.

1. Social Environment obstacle

2 Physical obstacle

3. Physical Environment obstacle
4 Mental obstacle

IR Bl wRieT foma & v a8t & UR B 2182 e
2 | U fea € H are 31T | 3H PRI ag u3lel {15 =igl
ABT | TET TAA F 0 U= 3rasie -

1. ArAifSTe uRkaer Fdeh 3reRie
2. QRIR® uRaer Adeh 3@zt

3.  #ifde uiRder Jden 3Rl

4.  HERAP URAQT Fdeh e

The play in which children do not share their play things but
Imitating with each other they continue their plays.

1. Solitary play

2 Parallel play

3. Social play

4 Symbolic play

T Rl Bl TP IR Bl 3d gU 3TR UH A Bl
3[BT PH3d U Heleldiell JHd -

1. TP dist

2.  JAHGR BHiET

3.  ATHINSD HisT

4.  UdKBIHSD HIST



13.

14.

Sumanth learnt to play cricket, now he wants to learn computer. The
type of transfer of learning in this context is

1.

2
3.
4

Positive transfer
Negative transfer
Zero transfer

Bilateral transfer

JHd Thbe Jietell A o721 | 319 g FHeYe AlBel aArgal
3 | 39 T A A TBR &1 3ifEeTHE TR gar 3 -

1.

2.

3.

4.

37elpel TATATART
Afdper FRATATaRoT
S FRATATROT

fgursd ZRreriazon

Ganesh learnt a list of 25 meaningless words in 20 attempts. After
one month, when he was asked to relearn the same list, he took 14
attempts to learn. Saving score of Ganesh is

oroter 25 forRefes ol @bt It B 20 S H i ferem |
TP AGle & ag 3 JA Bt W A & v wgat w= a5
A IR 14 Wl A F AR for=m | omoter &) gad @t oTuTe

3 -

1
2
3.
4

30%
40%
60%
70%



15.

16.

Sumalatha doesn’t know Sanskrit, but she can recite Sanskrit slokas
in Bhagavatgeetha without any mistake. The memory of Sumalatha
IS

1 Passive Memory

2 Rote Memory

3. Logical Memory

4 Sensory Memor

JAAT Pl HIPpd ST Bl 3716l g1 gl TR Ig HOTAPNT &
AP eAIDI Bl el I 3 9N Abdl g | FHAAT B
2;;1-% -

1. falea =
2.  eed WA

3. difches T
4. EigT-3rea

Direct, Indirect, alternative and self reinforcement were proposed by

1 Bandura

2 Skinner

3. Pavlov

4 Vygotsky

Teg21, U3, ddbicud 3R 31cH Tacielid iU -
1. 495

2. Rwear

3.  UEet



17.

18.

Author of the book “Animal Intelligence : Experimental Studies”

1
2
3.
4

Thurstone
Skinner
Thorndike
Kohler

‘“gfereret $efeToied | TrTURACH e &S U B

BIgeR

In Pavlov experiment, the dog salivated only for the sound of the
bell for which it was conditioned, but not salivating to other sounds.
This is because of

1.

2
3.
4

Stimulus generalization
Stimulus discrimination
Extinction

Higher order conditioning

UTaelt & SRI0T # Fdl 30 A Adg gl dI 3Taret Fed gl
&R Udhdl § U gk ol A 3Td Hg A @R TG
TUBdl | SHABT PHIROT -

1.

2.

3.

IEIUB BT ATHATRNBUT
3GIUP BT 3idT AFS

faq@ar / e

3ad A 3EA



The first person who used teaching machines is

1. Pavlov

2. Thorndike

3. Pressey

4. Freud

3TEATIA-TSN BT UGAIIR SUHIIT BIAdTeT -
1. Odet

2.  ATeASTSSH

3. U=t

4. WIS

Scaffolding means

1 Offering support
2 Prediction

3. Near

4 Making parts
THBICEI BT AT
1. AGAWI =

2. TSI Hee

3. arA

4. AN BT TS



21.

22.

One of the following is related to psychomotor domain

1 Imitation

2 Analysis

3. Responding

4 Valuing

HATEIRAG TcTellcHD 5T A Hdlda 3 -
1. 3®HI0

2.  faeciyur

3.  Hidieen fezamer

4.  FHcI eoTE

The most appropriate meaning of learning is

1 Acquisition of skill

2 Modification of behaviour

3. Personal adjustment

4 Gathering information

‘e’ &F fev 3rcia 3uge 3ef § -
1. DA BT 3sfa

2. AR A uRade

3.  ihold AATIIGIE

4. fow= &1 T«



In the process of teaching to mentally-retarded awarding points,

money etc. is regarded as this type of reinforcement.

1 Social

2 Secondary
3. Primary
4

Natural

‘gfeg AT’ e & sieue A A fig, WA 3nfe qem s
YhTR T Jdele g -

1. AmASE
2. 3o

3.  UIAHAG
4.  Hgol

During Enquiry based learning, the student

1. Gives importance to product rather than process
2 Depends on teacher to get knowledge

3. Uses inquiry for learning
4

Depends on bookish knowledge

Ry = snenRa Hwa 3t ear A Rremeff -
1. ufear A, BT Bl WA adT 3 |

2. el & foIU 3reamues uR 3menf¥a gar g |
3. S A Sl B TEreddr ad1 g |

4.  YIAD-slel UR 3MenRd glar g |



25.

With regard to opinions of Piaget and Bruner on teaching process the
correct statement is

1. Piaget opines that there is no relation between teaching and
maturity of the child

2. Bruner opines maturity of the child is most important for
teaching.

3. Bruner opines that there is no relation between teaching and

maturity of the child.

4, There is no difference of opinion between Piaget and Bruner
with regard to teaching and maturity of the child.

eI Aisha A Hafa et 3tk R & ARl &

A vaTe -

1. s & sragen B 76 31eamuet &1, aEi @Y
uRussar A JAder G B |

2. geR B HIgen Ig g % sremmua & fow awt @
ulRussar & wener 8 |

3. QERR Bl HIGe Ig 3 b 31U BT I Bl
uRussar A JAder =gl 8 |

4. 31U 3R TEl B uRUHal W - U=met 3Tk e
P HTA A BIp <TG 8 |



26.

27.

According to Bartlet, the leaders who posses special competency in a

particular area and can show impact on a group though they have no

relationship with the members of the group are called as

1
2
3.
4

Experts
Institutional leaders
Dominant leaders

Persuasive leaders

‘Ieeie’ & AR AHg AT A AGY o gl U= 3 TP
Rroer A v@® A wwe, Jeg R uae KEmaara

Aq13N &I I YBR HBad B -
1. fego

2. TRPE aAdr

3.  UHTEATEN Sdn

4.  UI® Adl

Right to expression belongs to this category of child rights

1
2
3.
4

Right to participate
Right to Survive
Protection Rights
Right to develop

‘oTel Bl FTH B B PR’ I BRI A TrH

9f A Adferd 3 -

1. PN I BFER g9 BT 3fER
2. Sile & 3MEBR

3. PIam Bl MUBR

4. 39T BT RBR



28.

29.

As per CCE the teacher responsible to teach Art and culture
education is

1.

2
3.
4

Language Teacher
Mathematics Teacher
Physical Education Teacher

Science Teacher

WM .E. F AR Herm 3R ARBpiaw Rrem H1 3reT TA
31¢ATUPH I Bl § -

1.

2
3.
4

HTYT &b 31EATYH
oifdTa & 3TeATUH
SR & 31EATID
st oo & 31eATUE

The following is not the concept of NCF-2005 with regard to
Languages

1.

4.

English should have a place on par with other Indian
languages

Home language is not required

Preparation of subject wise dictionaries lessens the burden of
the students.

Language is a source for enriching the social life.

ST &b Tdel H I UTSeT TA1-2005 Pt HIAT TG =gl

3 -

1.

335N BT 3T ARG AT b HAFT T=AT
et =anfge |

TR Pl HTT 3D I8l & |

fao=n 3 HAdiféra pren @1 ferdAfor et R =l U=
9T B T |

ATATSTPD Siidel Bl T Jelied A HTOT Tk Hd 3 |



30.

The right of Education is

1 related to Access only

2 related to Enrollment and Access only

3. related to Access, Enrollment, Quality and Equity
4

related to Access, Enrollment and Quality only.

faen 3R -

1. ‘uge’ A g ddfa

2. ik 3R Ugd A & Adferd

3.  Ugd, s(Hichel, IOl 3T AHTA A Adfra
4. UZh, SAeibe 3T 0T A & FalRrd



Hindi Paper-1l SET - |

oidarer ufew| 31 3TR 32 wesi & Ia= ugareC|

Rigraer fgar 3¢, Irorden & et arelt &l
Je HRd A oft 3, MR A a1 Srareh o
et g3 3O P BAT Ade ugaTe! 2t
2 ott Bt Bt B Adel Hel A orelt 2|
THB 3o Ael TGS H dg dadR gRred 2t

Y

31.

32.

T Biadiel & FadsIdT 3fiaiets & [Bd gear & arR &
AT 27?2

1.

2.

3.

4.

1857 &b HIATH I
1920 & TAGAWT 3Micietel Bl
1919 & Raeimea 3iigierer &1
1925 & BB Shall Bl

AG AT [BAB AGA Bl UgaTel?

1.
2.
3.

deldR & HAGT Bl
ftpolt & Aga @
3MSTISt & HAged Bl
Rigraer & #iga ol



eI YR 33 3T 34 Hesl & IR uglere |

IMAJET JeAIgR] ITeT Alfged & ATA 31ferd gaHm@a= 37
A RE A A | A o9 I & fw foraa A ot 3e1b offaR
ATEl BT Ueh SIReT dg 3odT T | 3JTehl AUe 2 b AR 290 &
g9 4R, AgA!, Abcuar 3R I gR=Ee 3ncef a=rs
ad | ‘37Hd & aul’ dNGRASht B agatda wgel 3, GRS
gRder ®l wglelt giat U= Y deliglelt o gael aglerdr 31
HTagul oren A 3R foren 3 16 A Jpwe ugen usar § |

Rt
33.  ‘31Fd qul’ - HA Bgrel § ?
1. ®Icafe®d SO A ST

2. oEIgd A el
3. CHDHAT3 A ST

4. QRION A ST

34. QYR Sit B AU AF B -
1. € =G do

2. 99 3Mee A= a4
3. T " PRR Id
4. 9 3B RaaE a4d



35.

36.

37.

ECTTg Hglelt A & 1HAT Bl ok A gifHT HAT
ISdhT 87

1.
2.
3.
4.

3g3ER 3R 3ifedent
JASER 3R Zareif
AT 3R PN

gl 3R FAHER

ot <=t ad) o1 B - gt A fhw wpR &1 AderA 3?2

1.
2.
3.
4.

U&Y arad AdelTH
sifereaearas Adara
Taerarad AderA
fercrara®s Fdeama

‘T MR FAIARI| S dTeT BT BHATE T»U UgIeIC|

1.

2.

w

i & gaRI 2MT AR SR |
Il & gaRT N AGRN S=of |
a= 2R FAT IZat|

Tl & aRT AR FAAR IR



38.

39.

40.

HIAT dTciep Bl HAT Racardl 3 - 3AHA A UbR
B ABHD feha BT SR=I0T 3T 3 2

1.
2.
3.
4.

UF BB e
Seomefes femam
o1 dlerd fopat
Tewaia fomam

od db JAA of A BIA Bl G gl [bAT, dd db
3THTLT UTATE TP B2 [T - araT H 9gh Hgad Bl
3ref = B2

1.
2.
3.
4.

JEd oz A SJ
3MuA A et
SIET Ageld Bl

CAEGTL |

31=art, Feflar fafereea 3Tk SN Igsd SN, At

®1T & I UG HATGAR g ANgIeTd aensii & iaoid
34 3 -

1.
2.
3.

Hiaar, ARMHR, JAdG



TRA’ - o @1 Al Fredeeiuria uRafda wu g
ghom -

1. Fr+=
2. @ +3:A
3. Fm+==
4, &+ |

Il TR A Ul PN - TG A UBIR BT a1 § -
1. oorRle aa
2. fenemefs ar
3. dbarfes a
4, Zegrfe a

3TN 3T Bl A Siiael Bl I - JFifhd
ATHATRIP 91 BT YBR IS 3 -

1. ®HIRT AAA
2. 3TERNATT JATH
3. dgdiis JA=A

4. 3] A=A



44,

45.

46.

‘Ui’ 2ot & Faramref foreer qoif A J S|

1.
2.
3.
4.

3R aman, gu it Ig, 3R § IS A Feiche, ST d )t IHT
N af g aft 3MHI WR G ST A1 - T AT AYGH

G, Ufdee1, IH®b
O, S, oNaHT
oI, &4, IUT

olc1, Hlgd, Aaga

HgaR P Ag 31f B -

1.
2.
3.
4.

qaR Tgell

et a¥g & ufd 3che g@1

aga sifiear A faAeren

S dIRAT 3R ATGHA BT B Bl

BR & 310! Siid 3’ SRUNER™IS U6 3l 37 U6 A
fpads IR A gamr = 32

1.
2.
3.

Taea sqifsTe STk
e sreifern Seew
Taee BrRRlE Sk
frean PR Feew



47.

48.

49,

SS1-331 gar IcAdl 3, BT I &b IRl oI feree
Wit A A vifed|

1. #ASA, FoN®B, A0

2. JHR, dieag, ard

3. dg, 91, Hedld

4. dfsd, Side, udd

HRd & 31ST Ps [Gluur &1 9= B - are & 3FAifpd
9lg S YBIR Bl AT § -

1. afaars s
2. GeIdrEsd A

3. HAHG grEad A
4. oTidarEs Js

DT Sl Bl A T UR fofeer IvprR a ufdaer
SIoT=IT &7?

1. JArclads

2. UGURHALR

3. ®Wbhe

4. RS & Raest



50.

ol

52.

M Sifd & AT ;AR ----- U3 - Jell YoTSt Ugeld

31 Raa v & gid fpar shua fasifda fawea 3 gl -
1.
2.
3.
4,

Hdel BR®B, BdlbRDp
Tdel BB, BV HRDB
Hdel PBRep, MBI BRB
Hdel BRPB, BlpRD

fereet o/l A A QoS oI ugATleIU|

1.
2.
3.
4.

&d
PBIH
B -

AEDBIR

o1 zeme wR feftast 3fea ®t a1 5l Qoo & vas
R Bl 3TaBe 35Yd Hell gl dl A gt B g7

i 3|

1.
2.
3.

g9el Tage
A Ug
3geRT fage



53.

54.

‘BrRI-gar=1’ TSIl BT UG FAGIDBIA gl SHDb Bid & -
1.
2.
3.
4.

getd 0t fofor o1 &t ey 3 -
1
2.
3.

sfierk UTodh
3RANEATRIG IUTeAT
Hferel! QRUT I
AT agdat

gl
DI
greft
A



95.

56.

S7.

Hindi Methodology Paper- Il SET -1

1
2.
3.
4

fBelt TR o ot @t SR A dieten
f5tt = @ 3ifaerr S A dcten ar o
TR B AN Bl ARRAR AASET AT JicTell
FioTel &l Tbd TT A TH Bl

HeT-bel A 19121p deat &bt Idia & ATA-ATT T2

AT E A E -

1.
2.
3.
4.

UG UTceIshd TeheITcHes BidT g il Hsrelaredl &l

ANTHITIGH 3TGHT TSI Bl g 3R BRI R AFIA BT 3d

<RI STeidT & | 98 UTeashd 3 -

1.
2.
3.

fohaTca®
fare=rdbsiega

qIUIId



58.

59.

60.

“Trelt IAEHA TH A, SN Al dleAd =g |
SITel U3d g $Ib Ud, R adid & Al ||
A I & @Rl # adafay B 33 [dvar drud § -

1.
2.
3.

(X3

FHeRar
Srferefierar
gHTITIGhdT

LAl

........ 2121 ot ag fafyr 3, o g1 fawerag

&I, Freor-faitrey @t qern Rreer-ugieal & 531 <o A
aifesa g sirar B 6 e qen Rrama ot aRRerfa=n &t
AT I ST AP | b T BT AG! 3= Uganielv |

1.
2.
3.

4.

Jaifeett

feRaR AT FeAidwe
SHTS-NoTel
Treror-fate

A TBR Pl UNeT-52E] & BB Bl 31! ddb-21th Bl
BIA H AT FidT B -

1.
2.
3.

ag s
ferdeneAs
JAAHU

i



61.

62.

63.

64.

English — Paper-I1 — Set - 1

Hari made an earth- shaking decision.

The synonym of 'earth-shaking' is:

1 valuable

2 dangerous
3. important
4

small

| finished my dinner. Then my father came.

The above sentences can be combined as:

1 As my father came in, | finished my dinner
2 After my father came, | finished my dinner
3. | finished my dinner, so my father came in
4

My father came in after | had finished my dinner

This is a beautiful story, ....................

Choose the correct question tag to complete this sentence
1 isn't this ?
2 isn't it ?
3. doesn't it ?
4

IS this ?

The cow gives milk.

The correct "Yes / No' question of this sentence is:

1 Is the cow gives milk ?

2 Does the cow gives milk ?
3. Does the cow give milk ?
4

Did the cow give milk ?



65.

66.

67.

68.

Are you studying .......... for your exams ?
Choose the grammatically correct form of the word to complete the

meaning of the above sentence.

1 Very serious
2 Serious
3. Seriously
4

Seriousness

The contracted form of 'will not' is :

1 wouldn't
2 will not ?
3. won't ?

4 II'not ?

The verb form of 'pretension’ is:

1. pretende

2. pretene

3. preten

4, pretend

If there .......... trees, there would be no life on earth

Choose the grammatically and meaningfully correct expression to
fill in the blank.

1 not were
2 was not
3. were no
4

are no



69.

70.

71.

72.

Raman passed away on November 21, 1970.

The meaning of 'passed away' is:

Choose the word that means 'the study of the cultures of the past'.

1
2
3.
4

1
2
3.
4

death
killed
was killed
died

Archaeology
Physiology
Psychology
Geology

Choose the sentence that has a defining relative clause.

1
2
3.
4

Hari, who is my friend, has won the prize.
Swathi, who is my daughter, has passed the exam.
Mohan who came from Guntur stood first.

She said that she was good at English.

‘A person who hates women' is:

1
2
3.
4

misogynist
fatalist
monogamy

ambiguous



73.

74,

75.

76.

| do not have enough clothes for my journey.

This sentence expresses:

1 capacity

2 inadequacy

3. doubt

4 possibility

He goesto .......... school regularly.

Choose the article that fits the context

1
2
3.
4

a
an
the

No article is needed

Seeing the police, the thief ran away.

This sentence is:

1
2
3.
4

a compound sentence
a conditional sentence
a simple sentence

a complex sentence

Choose the word with wrong spelling.

1
2
3.
4

precocious
moustache
straight

vulgar



[ 77-79] - Read the following passage and choose the correct answers to
the questions given after

Journalists argue over functions of a newspaper. | feel that a
provincial paper's purpose is not only to present and project the news
objectively and imaginatively, but to help its readers to express themselves
more articulate their demands. A newspaper should reflect the community
it serves warts and all. When the mirror is held to society it reveals neglect,
Injustice, ignorance or complacency. It should help to eradicate them. It
would be pretentious to think that a newspaper can change the course of
world affairs — but at the local limit, it can exert influence, it can probe, it
can help get things done. The individual's voice must not be stifled. Instead,

the reader should be encouraged to express their opinions, fears, hopes and
their grievances on this platform.

77.  The following is the purpose of a newspaper.

1 To present facts in a blunt way

2 To encourage the readers to be pretentious

3. To project news objectively and imaginatively
4

To exert influences on the individuals.

78.  The readers can air their grievances:

1 by writing to their local newspaper
2 by writing to local officials

3. by supporting the local newspaper
4

by being complacent

79. Choose the false statement.

1 Newspaper should help its readers to express themselves.
2 Newspapers should reflect the community it serves.

3. Newspapers should not stifle the individual's voice.
4

Journalists never argue over the functions of a newspaper.



80.

81.

82.

83.

He is not good. He is not kind.

These two sentences can be combined as:

1
2
3.
4

He is neither good nor kind.
He is not good but kind.

He is good and kind.

He is either good or kind.

Choose the sentence that expresses ability.

1
2
3.
4

She can pass the examination.
She will pass the examination.
She may help you.

She should help you.

| had scarcely put the phone down .............. it rang again.

Choose the correct word to complete the meaning of the sentence

above.

1.
2.
3.
4.

Choose the word that can be used to write an adverbial clause of

later
than
when
then

condition:

1.
2.
3.
4.

If
As
Since

Because



84.

85.

86.

87.

88.

Choose the correct spelling of the word.

1 rejuvenate
2 rijivinate

3. rijuvenate
4

rejuvenate

‘Syllabification' means:

1 breaking a word into syllables

2 combining two syllables into one

3. removing vowel sounds from words
4

adding a consonant to every syllable

Choose the word that has the stress on the first syllable.

1 debate

2 downstairs
3. vibrate
4

electrical

The two main types of evaluation are

1 syllabus and Curriculum
2 descriptive and objective
3. deductive and inductive
4

formative and summative

Reinforcement is a skill that involves

1 revision and recognition
2 recalling and reordering
3. recapitulation
4

repetition, summarizing, probing questions, clarification and
illustration.



89.

90.

(CLT) Communicative Language Teaching believes that

1. Language learning happens best when the atmosphere is

relaxed and learner receives encouragement

2. Language learning happens when the atmosphere is rule
based
3. Language learning happens best when the teacher dominates

the class while teaching.
4, Language learning happens when reading is given top

priority.

The king who commissioned scholars to translate the English Bible

and write it in modern English is

1 King Herod
2 King Moses
3. King Joseph
4

King James



91.

92.

Social Paper-11 — Set-1 (Hindi Medium)

History has been a discipline of study for the past

1 100 years

2 200 years

3. 300 years

4 400 years

19T fehael auf A “sfagr’ ureHior s T A § ?
1. 100 gof A

2. 200 gl A
3. 300 gl A
4. 400 991 A

Father of History

1. Aristotle

2. Thucydides

3. Hegel

4. Herodotus
sigrRT & fhamg § -
1. 3R

2. issA

3. g



93.

94,

The earliest specimen of Harappan script was noticed in the year
1
2
3.
4

UGl Ugcl 9 aS A gsw iy &1 gdT elor=Im Ir=T -
1.
2.
3.

4.

1851 A.D
1852 A.D
1853 A.D
1854 A.D

Al 1851 H
A 1852 H
A 1853 H
A 1854 H

The first popular king of Magadha was

1 Ajathasathru

2 Udayan

3. Maha Padmananda

4 Bimbisara

HTY U ARAS Heiaiet TFHA el & -
1. 3TeIar

2. 3adel

3.  HGIUSITEiC

4. fagAR



95.

96.

The nearest Indian city to the equator is

1 Srinagar
2 Delhi

3. Banglore
4

Kanya Kumari

HRAQYT & ORI H JALRI & U Rrd PR I8 3 -

2. st
3 IR
4 BHRTHHTRI

The limitation of per capita income to compare the development of

different countries is that

1 the calculation of per capita income is difficult

2 it doesnot reveal the disparities among the people
3. it is not useful for comparison
4

it can be valued only in dollars.

2oil @t 3ifdrafeg B gorem Ha A, = 3ma Pt e

1. itk 31 &I I0Tel picet § |

2. dg ¢oN & T giaaret a3 &l Ybe STg1 B |
3. dg getell B b fTU IURIH I8! o |

4. 9% dad SRl # Pree & v §t 3ug® 8 |



97.

98.

The country that is not a founder member of ‘NATO’

1
2
3.
4

Iceland
Spain

Poland
Turkey

form & 3 Tg 291 @Y (NATO) &1 TRIMUDb TR =18l § -

1.

2.

3.

4.

KRGS
el
ueis
gopl

Identify the wrongly matched pair

1 Social Contract - Rousseue

2 Two Treaties of Government — John Locke

3. The Spirit of Laws — Roger Bacon

4 Declaration of American Independence — Thomas Jefferson
JeTd STE! Pt UgaTelw

1. AU Bige - THA

2. T SIS 3T JaeidAc - Sitel dlidb

3. f& Rauf¥e 3w a1F - JoR dpe

4. TEorRoe 3w ARG U - AT AnIAd



99.

100.

Identify the incorrect statement to make the democracy successful.

1. the active participation of the citizens.

2. following the basic principles of political equality and
inclusiveness

3. free and fair elections.

4. voting of aged people is compulsory

USTIasl Rl ABA giad & o =i G 9= areen & 3

e T T -

1.  ARR®I & Thamelia PieR! gkt afge |

2.  TSlalded JAATAT 3R Add! [HAHR o & HAiferd
I BT UTee Pl g |

3. forwmar iR s germa |

4. g8 @I & fcTU dic Sice B TaeH ! 3 |

At the time of fire accident we should not ....

1. make a phone call to 101 and give the address, details of fire
accident

2. hide in a cupboard or under the bed

3. get out of the building as soon as possible.

4, switch off all the electrical appliances and turn off the main
switch board.

30T &Y GHeaT S AT T TG Bl Agu -

1. 101 Si9R Pl B HIb UdT Ud gHee Ade AATR
Qe |

2. U9l P oI T IATARI & i U STre |

3. JAT AT Sicl ael/SHeARAT A AR orpeten |

4. Taga Raa & 9 FRen 3R Aga Rag @1 ot dg

el |



101.

102.

An art which is associated with the origin of VVeerashaiva movement

in 12" and 13" centuries was

1 Kuchipudi

2 Oggu Katha

3. Tholu Bommalata
4 Burra Katha

12 df 913 ot A A AR Aa 31icicla & AAT 3T Bell 3T
TS -

L gy

2. 379 wR

3. dlgdteHcel (Hogdell Bl Hel)
4. T

The temperature in Delhi at 6.00 AM was —4°C. In the afternoon at
3.00 PM it is raised by 10°C. Then temperature at 3.00 PM was

1 10°C

2 -6°C

3. 4°C

4 6°C

fReght A gag 6 It —4°C AUATE gof B IRA | BlUgT 3 TS
de 10°C dUHATS I I-IT dl 3 IS BT dATUHAT fhdel gof

ghom 2

1. 10°C
2. -6C
3. 4°C
4. 6°C



103. Simla, Bengaluru, Bhopal, New Delhi — the correct order of the

given places from North to South is.

1 New Delhi, Simla, Bengaluru, Bhopal
2 Simla, New Delhi, Bengaluru, Bhopal
3. Simla, New Delhi, Bhopal, Bengaluru
4 New Delhi, Simla, Bhopal, Bengaluru

f3reTett, doreiiz, uTel 3Tk o9 gl &1 3a2 A <Rior &t
3R A H TR B A

1. o8 feght, Rreen, doreir, aiure

2. Reren, =E e, Pk, siue

3. Reren, E g, aiurer, doreiR

4. =3 g, RBreen, due, PR

104. River Volga drains into the

1 North Sea

2 Caspian Sea

3. Black Sea

4 Baltic Sea

siteon ot g wegg A Richer @it 3 -
1. 39 AR

2.  BRUNIE AHg

3. Il AHg

4.  dlfced THG



105. The village headman (Patla) in Gonds acquires his post by

106.

1
2
3.
4

Winning in election
heredity
possessing more properties

the suggestion of the priest

I S A HRAAT BT UG $A a3 Heldl g -

1.

2.

3.

4.

gl g A Sitaat A
3TTefaferpar A

31fep ST giodret &l
JoIRl gRT Jfaa & Bt

The mightiest Mahajanapada was

1 Vajji

2 Avanti

3. Magadha

4 Matsya

HAGISTEUS] A 37 AR 3 -
1. afs

2.  3mdfa

3. HOTE

4. HR



107. “Political science begins with a state and ends with a state.” This

definition was given by

1 R.G. Gettle

2 Stephen Leacock
3. John Richard Seely
4 J.W. Garner

“ITSTeNIeT A ST A 3MRH glep IS A 3id a1 37 -
Ig g fpast 8 2

1. 3RS
2.  Wike clipid
3.  Silel =g Ryet
4. O3 IMER

108. World’s greatest “Political religion’ is
1 Communism
2 Capitalism

3. Dictatorship

4

Democracy
faea & T ISt TrorEhfa &1 aH W5 B -
1. AT
2. Uolard) eazen

3.  dIeTeNg!
4.  clibds



109. The Movement launched by Mahatma Gandhi after the failure of
Cripps Mission.

1 Vandemataram movement

2 Non-Cooperation movement
3. Civil disobedience movement
4

Quit India movement
frer &1 gaerd e g9 & arg g el S & A
3Tigiete &1 IRH B -
1. dSHNIRH 3Migietd
2. 3/AZANI AHiciare
3.  QMTeg@He 3ficictel
4. A BIST 3Miciere

110. The Constitutional Article that gives provision for Presidential rule

S

1 324
2 356
3. 314
4 321

Ul omRAe & fAE AT eiaTa Aidener &1 s U5
3-

1. 324
2. 356
3. 314
4. 321



111.

112.

When there is general inflation, the whole sale price index

1 remains constant
2 fluctuates

3. raises rapidly
4

increases slowly

ATROT AGTFBIT §ied U 201 G BF I -
1. RerRI/AITI

2. 3dR-Ie gid 3gd & |

3. Gicdl dedl g |

4, R-¢R gedt 3 |

The formal credits given to the villagers are supervised by

1 NABARD
2 ICICI

3. FICCI

4 IDBI

eI P A SeaTe 3iu=TiRes RO BT gfdeior
PHIedrel g -

1 NABARD
2 ICICI

3. FICCI

4 IDBI



113. The reason for Polder agriculture in Holland (The Dutch)

114.

1
2
3.
4

Lack of irrigation sources.
Scarcity of agricultural land
Less priority to agriculture

Less expenditure is required for Polder agriculture

glis A ‘Uicse Jdl’ PHa Pl PR -

1.

2.

3.

4.

agl Rarg @t Ffaeny aa 3§ |

gl Beht & fe1w Jugeh ot agd & 3 |
agl Bl Bl FAged B 3 |

Uies? Bl & fov B agd S 3 |

The result of Rakkasi Tangadi war in 1565 A.D was

1
2
3.
4

establishment of Vijayanagara Empire
establishment of Nizam Empire
destruction of Vijayanagara city

expansion of Vijayanagara Empire

e 1565 A gU THA! dvits’ G BT Bl

1.

2.

3.

TISTIePR ATETST Bt T
ferotey TT@ETST HY Temue
fersTIePR 98T &1 e
TIorePR AT & iRar



115.

116.

Most of Ashoka’s inscriptions were in

1
2
3.
4

Prakrit
Sanskrit
Telugu

Tamil

IS 312Np & Torerm o 3iferpior s W H B -

1.
2.
3.
4.

oThd
WP
agy

e

Upa Sarpanch of Grampanchayat is elected by

1.
2.

All voters of Grampanchayat through direct election

Sarpanch, ward members will elect one of them as
Upa Sarpanch

A gentleman of Grampanchayat will be nominated by the
Sarpanch

The leader of the defeated party in panchayat elections will be
appointed

UaTId & 3U-3RGUT Bl $A UBR Jold 5 |

1.

gcel gera fafer A oifa & Aaft FAaerar Bieiw:
Az |

AT 3R a8 F AGH DR 3uad H A fwt
TS Pl 3U-AIUT TS & [0 Ferd g |

oita & TRl gopf @I 3u-T=ug & Hu A U &
Heflelta P |

UarId & geld A gR Ul & odl bl o
®d 3 |



117. Word ‘La Stato’ was used for the first time to demote *State’ by

1 Machiavelli
2 Aristotle

3. Bluntschilli
4

Jean Bodin

T TN’ ATHB g & 3Rl A “IA’’ g BT TR UG
ugel g T -

1.  Hiipar afg
2. 3R

3.  coeellet

4. ofie aifser

118. The term “Nation” is derived from the Latin word ‘Natio” which

means

1. country

2. state

3. relationship
4, birth

‘e’ o cifea &AM org A I g3 | difea A
= 9olcs 1 31 = B ?

1. 39T
2. 115
3. Rode™

4. Gled



119.

120.

Indian subcontinent is the part of

1 Lauransia

2 Gondwana
3. Eurasia

4 Angara Land

HIRA 31U A HPT P 3idold 3MaT 3 -
1. ERfew

2. ol

3. FRMerm

4. 31OTIRT HTT

Food Security act was made in the year

1. 2009
2. 2011
3. 2013
4. 2015
IR HATeT PRaT Biefel A adf H aerr § 2
1. 2009
2. 2011
3. 2013
4. 2015



121. The crop that requires high temperature, high humidity, minimum

100 cm. of annual rainfall is

1 Paddy
2 Tea

3. Wheat
4

Corn

3TcTeIh dIuHATe, 31Ih I BH A HA 100 H.#. aritfamsf
- 39 BAA & foTU 3Ma9ad B |

1. e
2. oA
3. g
4.  Hedl [ YgrI

122. Evergreen forests belong to this region..

1 Equatorial

2 Mediterranean
3. Moderate
4

Polar
Add gRARTT §A AT A Halad g -
1. HeT I/ uid
2. HEIELRT Uid
3. A oMarwr Rerfa uia

4.  gdI uid



123.

124.

A false statement regarding East India Association was...

1 founded by Dadabhai Naoroji

2 formed to address the issues of India
3. established in London

4 established in 1868

forg g A Sec Sfean sARRE’’ & dAda A
AT 3 -
1. SAD! I SEIHTS SARIeil o b 2 |

2. IUg HRA 291 & JAFA3N U= = & fow zenfua
fopaaT em

3. g cicel H zamfua gam e |
4. I 1868 A Tenfuqa fm=m o |

Lok Sabha is entitled with more powers than Rajya Sabha because

1 Lok Sabha is a permanent house

2 members of Lok Sabha are elected by people directly.
3. The leader of Lok Sabha is the Prime Minister.
4

Lok Sabha has more members.

IS AHT A ABANT & 3MfIBR 31fis & | w=Nfhp -
1. cliedNAT onead HAMT B |

2. CAIBAN & A MY, Feidl A Tl o § |
3.  cllpANT & AdT Tere FHabl B |

4, NBAN & AT Bt THAT 3D 3 |



125.

126.

Kakatiya rulers often transferred the nayakas to new places, because

1. to get acquainted with all places of kingdom

2. to save them from public opposition.

3. to prevent them from declaring themselves as independent
rulers.

4, to restrict the increase in their wages.

aRibR faftr A Brhdi omAG 31HAT 31U ATIB] Bl
TRATATART Bd A | FAb -

1. 33 35 & A Hidl &l SehR! g & feu
2. 353 Yol & Ble A A & faE

3. @ 314 31Ul Fds MG Oiftid B A Ibal
& foru

4. 3otk dad A ghg = 3l.... safew

The first Law minister of Independent India was

1 Sardar Vallabhbhai Patel
2 Jawaharlal Nehru

3. Prakasham Pantulu

4 Dr. B. R. Ambedkar.

T3 HIRA DT Ad g fafey #bBr & -
1.  ¥RCR I@HHTS ud

2. Sl dAgH:
3.  UIH Udd
4. 31 d1.31R. 3idsH



127. Adam Smith’s definition to Economics

1 Wealth definition

2 Welfare definition

3. Household definition
4

Growth definition

sl & fe1U 3msaARwAa & &) orht ufSamT -
1.  dufa uRam

2. 91T gRRaATHT
3. Jg ferafg uf¥ams
4.  glg ulRam

128. The terms macro and micro economics were used for the first time
by
1 Adam Smith
2 Paul A. Samuelson
3. Ragnar Frish
4 Prof. Marshall

A 3R FaH 3refermesit @t aaensit B AdwerA sNoT A
cretarer 3referssit -

1. 3mEA RHa
2. U U. ARG A
3. MR fer

4. AT Fefe



129. The sector that offers largest employment in India is

1 Agriculture
2 Industries

3. Services
4

Information Technology

WA H AP 0N P Ao - A 85T A gl 31 & -

SR 2
2. 3MeElee &
3. Adr A

4. AATER UL depeilics 231

130. Countries in Socialist Camp

1 Russia, East European Countries, China
2 China, America, Britain

3. Russia, China, India
4

Russia, China, Japan
Ay PR a3 F -
1L W, Fd & PRI Ied, A
2. e, 3@, foed
3. A, Ui, HRd

4. HA, A, SUTE



131.

132.

Banks donot pay interest on

1
2
3.
4

Current account
Savings bank account
Fixed deposit account

Recurring deposit account

fora A A zo1 TR R 6 P g E 2 -

1.

2.

3.

4.

P FTAT
Afdor d6 FTar
trarTs STARITT Tman
RaRor STARIST FAmar

Identify the mismatched pair

1 Jyothiba phule — Satya shodhak Samaj

2 Pandit Ramabai Saraswathi — Sarada Sadan

3. Dayananda Saraswathi — Arya Samaj

4 Nizam Alikhan — Muhamadan Anglo Oriental College
for@ & o1eTa oSt § -

1. Sl get - AMED AATS

2. dfed IAT 918 G - 9ReT A

3. TIIeig AL - 3 FATS

4.  HigFASH 3Mven 3N¥eer Herener - oo

3Tt =T



133. 180° East/West longitude is

1 Greenwich Line

2 Indian Standard Meridian
3. International Date Line
4

Equator
180° QR / Ufdad Iien
1. Jifera AT
2. HRA WTAIUG Iz
3. i et &t 3w
4. HF IJW

134. In the Empire of Ashoka the people who were appointed as officials

to solve the conflicts and legal problems were

1 Mahamatras

2 Dhamma Mahamatras
3. Legal Mahamatras
4

Dharma officials

312N & RAS A PR, FAFIAU 31T [y wew

AFTAI3TT B JeAe & fole 3 o g 3 -
1. HAGEAS

2. o FgAS

3. fattr g

4. oH 31BRY



135.

136.

The concept of utility was introduced for the first time by

1 Benham
2 Jevans

3. Boulding
4 Robbins

3UANBTET &1 ATEeT b1 ufdues g -

1.  dgeH
2. oiaeA
3. difegar
4. RAdeH

Law of Equi Marginal Utility is also called as

1 Gossen’s first law

2 Gossen’s Second law
3. Gossen’s Third law
4 Gossen’s Fourth law
1. O 9aH e
2. e fgd o
3. IAA gag fordA
4. RS Tgel o=



137. The country that is known as the “Land of midnight Sun”

1 Canada

2 Indonesia

3. Japan

4 Norway

““3MeRt AT b FPIST BT A TG B -
1.  Sesl

2. ssabrRm

3. GIdTel

4. o

138. The day on which the sunrays fall vertically on equator is

1 21% June

2 22" March

3. 23" September
4

22" December

AT T TR YRSl & 6T &d Hu A 5 ket usa B -

1L S - 21
2.  HME - 22
3. Brdaz - 23

4. f&Faw-22



Social Methodology Paper-11 — Set-1

(Hindi Medium)

139.  Which of the following are considered as broader perspectives and

guiding principles to the entire Education System.

1
2
3.
4

Objectives
Aims
Specification
Skills

faemer uRvizar T@we g3t Rien-ugfa & fov Anifeels
AT -

1.

2.

4.

(G [0
3T
IO BT
Piorcd



140. Identify the correct statement that relates to "nature of curriculum™

1 Prepared according to classroom

2 Prepared by supervisors and teachers as an authentic guide.
3. Elaborative, related to the entire academic activities.
4

Developed on local specific issues

f31em HoTTet & AT & IR A IaEAI FZ AT B -
1. P2l Pl &l A IH|BT AR B o |

2. 3MueiUig APfesies & U A w=iders an
31EATUBI Bl dIR H3d 3 |

3. Tga 3, uteenan & AFwd Rien-gedl A Adta g |
4. WY [ARNE JEl & 3FAR dIR Hd 3 |

141. Formation of National, State advisory committee for protection of
child rights, supervision and grievances is explained in this chapter

of RTE-20009.

1. Chapter 4
2 Chapter 5
3. Chapter 7
4 Chapter 6

aTeT 31fpRI &1 H3eior, udzior, Rrprdl & uRwpR &
fore Il 3R I TR R AcgeR AfHTTN BT ydew
A P a1 3MR.E1.3-2009 b TH ThI0T A I I=T -

1. AIT 37T
2. UTerdl 31eT=T
3. ATddl 31T

4. Bl ey



142

The areas that support the study of social science as 'integrated and

comprehensive in nature are.

1. A comprehensive discussion on Geographical conditions
History, Administration and economical issues.

2. Discussion on political parties, institutions, Electoral process
and administration of the Government.

3. Analysis on National Income, Banking system, Industries,
Agricultural development.

4, Study the changes in the society through critical and
analytical approaches.

HATSI-[IsTIeT T 31eRIe AlFAfera Taamg &1 8 - foa 3 a5

3191 S HeA A AGISB 3 -

1. dnfae wial & Rafaer, sfagm, omra J dafta
3for 37R 3nffes fere=it u=r a1 3u A =i Been

2. fafdm serafas o, dvay, goma 3R IReR &
oA UR ==l |

3. I 39, dp, 3Mebie 3R BN 5 A ghg
BT faeaiwor |

4.  SArATHSD 3R TIeeuarcHsd eiehiur I JAG
A 3 uRRadel &1 31T B |



143.

144,

While teaching ancient civilization, its Historical, Political,
Geographical and Literary concepts are discussed. This type of
approach is.

1. Correlation approach

2. Unit approach

3. Integration approach

4, Chronological approach

19T HIIAT A HaTed 3ieT BT AT Hd AAA, 3H JoT
A Fdfra sfagra, IeTatae, Aonfere 31, Afge anfe &
ar # Taf g2 al ag b JeR &1 3uPH § ?

1. Ag-Ade IUTH

3191 3UBTH

Hace | Ubdl 3URTH

PIcThHA SUNTH

L

The teaching method based on the principle "Learn to live but not
live to learn".

1. Problem solving method
2 Project method

3. Discussion method

4 Supervisory method

Siiael Siid g AISe g | ofidl & e e =16t - 39 I
wR 3nena freror fatdr -

1. JHJ - oI Tt

gt¥atorer fafer

==t fafér

ufaaror fafdr

Lo



145. The main objective of Social Sciences laboratory

146.

1.

2
3.
4

Providing a laboratory for social sciences also
To present the social sciences material in a room carefully
Utilization of school grants

To make the students understand the Social Sciences concepts
easily.

AHATGT AT FHTATAT BT FHZ 389 -

1.

2.

TAHTST AT &b [TT Th T=OI2MTAT BT Sderel

TATST oA A Adra AR &l Ageme A Uh
B A JRIRIA I/

UTSLNE 3fjeTe (Wie) Bt B el

JAATS o= A Fdferd o el &bt o= 3mATEl A
JFSS &b oo |

One of the following is related to ‘tripolar' education.

1 Student, teacher and textbook

2 Student teacher and school

3. Student, teacher and inviting society into school

4 Student, teacher and Headmaster

fora & A ug Drga ¥en A G § -

1. B, U 3R gIdh

2. B, 31D AR UISATEAT

3. B, 3eAUG 3R AATST BT UGNl A 3G
b3l

4. OME, 31D 3R TeIeEAID



147.

148.

The main use of reference books

1 To expose an issue in different dimensions

2 To preserve in school library

3. To inculcate book collection habit among children

4 To conduct summative assessment

Fga a1 I TRl P weme =T -

1. U fau @t Aqol Hu A fae smmet & gr
3GIRd &= IS |

2. AHATS ARA F A A FRR1E A & [T |

3. fafaer giel &Y swgr Ba P 3ed Jul A YT B |

4. TRIAHAB AcAidha Bl feralg HeA & v |

The Comprehensive Evaluation means

1 Assessment of curricular and co-curricular activities

2 Recording marks scored by students

3. Observing the knowledge and skills of students

4 Conducting examinations in regular intervals.

HAHI HeAiehel

1. Ured 31 g uled 3il &1 Aedidhel Bt & fou |
2. Temeft & grRT UG 3iw B RepTE B

3.  foemeff & sme 37k Bieral BT NafoT HE

4. fofma e safer A gensi o ferdgor



149. Conduct of "Swatcha Bharath" and Women Empowerment activities

in schools are related to

1 Bringing society into school

2 To get recognition to teachers and Headmasters
3. To collect donations from parents
4

To provide infrastructure facilities to the school
greenen3nt # feralg fpd SRaIe ‘e WRa’ Afgen
JAHNBIOT 3N BRIBA! Bl A d3g A JAbd g -
1. TS Pl UIGLATAT &b AoIGId ale |
2. 37eATD 37 FETATEAUDh] DY Ugdre b v |
3.  HAa-fuar A e Jgrmar #@vha & v |
4.  ureemen3it A Aferws Jhaensn & forw |

150. Children can obtain "Right to live" through;

1 Balanced diet

2 Living with parents

3. Getting free and quality education
4

Protection from child abuse

qTeiep ‘Sl & IMEBR’’ P FRT B! T BT Abd 8§ -

1.  JAAGA 3MER
2.  HE-UAr & AT HAB Shier
3. foges vd gporan Rren aren
4. QTS MYOT A I3 UTell



